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°]) = (54+3+5+3) x 7= 112(cm?)
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(1) (F4¥ol) = (B E)x (&°l)
(24 342+ 3) x4 =40(cm?)
(2) (B4¥ol) = (BH9 7I=) x (BH A=)
=3x2=6(cm?)

(BHol) = (ZWol) x2+ (FHel)
=6x 2+ 40 = 52( cm?)




@ 6+6)x2x4

@ 6x6x6

® (6x6)x2+ (6x6)x4
@ (6X6+6X6+6%6)x?2
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7| 547119 H1]7F 1458 cm® 0] 227U 17]19] Ful =
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1728 + 27 = 64( 5f)




15. o = 2oy 71 zke A

Lo|7} 5em 9l AL HA

7}27} 4 cm, A27} 7

Oﬂiﬂ 4cm, 27} 2cm

B

@
@
® 3 BAE7} 4em ¢l AL HA
@

@ 5x5x5=125(cm?)
@ 4x4x4=064(cm?)
® 4x4x4=064(cm?)
@ 4x7x3=284(cm?)

(cm?)

3
®4x2x4=32(cm?




(A= =9 F1)

= 8x 16 x 5 = 640( cm?)
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(92olo] A7) Ael)
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2m75cm= 275cm, 4 m= 400 cm, 3 m= 300 cm
(7F=2) : 275+ 30 = 9.1666 --- — 9 7

(M=) : 400 + 30 = 13.33333--- — 13 7l
(3°]) : 300 +30 =10 — 10 7

1= 7122 97, N22 13712

9% 13 = 117N 7] & 4= A,

BT 10 37HA B 4 JeBE E1E

9x13x 10 =1170(7R) ¥= 4 UFY.
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@2] H1]: (7x4)x8=224(cm?)

@49] H1]: (3x4)x5=60(cm?)

®9] Hul: (7x4)x8=224(cm?)

@°] B (4x4)x5=80(cm?)

b A 224 4 60 4 224 + 80 = 588( cm?)
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(2] 51]) = 9x 12 x 3 = 324( cm?)
(Ho]) =9x12-6x6
=108 — 36 = 72(cm?)
(ATE B2 &9 ¥0l) =324+ 72 = 4.5(cm)




